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Definitions
Sd S (Homomorphic Encryption) %y =E00) = g pi)
AT 20| GArSt A0l W 4t HNS 2E T )
- ui; =€E(0) <= Az, = xx;
op(&(m)) = E(op(m)) v =E0) < Brri=a,
%!9,|_Q| EAl_I-Ol ‘?‘l ngEI% Du_l-_f_ A| %de%éj O|_|I-§ Client inputs: For 1 < 1,57 < m, 155;),255;),1777;j,2777;j,uij,vij where
(B7H71:= pa, BIY? = p, B2 0[RI%) T LEO) o
E(1) dx;:=&x; Nx;: T
— 1 2 15(1) — ] J
E(m) =m + pq + 2e T\ £0) 0w

In,2n are similarly defined.

O| R| TG Adl M| Z35l02 QA L5

[ RS (XOR), &8 (AND) EE0IEE U5 Step 1: propagation For 1 <s,j,k<m

g(ml) + E(mg) — g(ml + m2) 2 5(s+1) 25 255 2

o Oy —  “0p; _l_Zi;ék,j Opi * “Mij
E(mi) X E(mz) = E(m1 X m2)
= _ Step 2: edge addition

AUSIUY=9 28
Iél_cl_lj)_@. _;,_A:-I! §\|_/|\_7|. IE%I-%/I\ E A':I_g_é-pl a.?jl- (Load stmt) For 1 < i,k <m (Store stmt) For 1 < 5,k <m

....................................................................... 177ki < 177kz’ + Zj;éi,k 25]4]' . uij 177jk < 177jk + Zz’;éj,k 25ki . fUij
Step 3: propagation For 1 <s,5,k<m

(s+1)
151{? N 151?;’ + itk % g

= |_ -
|-EH9 7E|'O| E%El = 7\'”9,':&!% D,J‘—f— |9| Output determination The client receives 15871“),2557”1)(1 < 1,75 < m)
pt - Var — QVG“T 7:||/|\_|- from the server and computes points-to sets as follows:
i | D 1gim+1) 0 * %
%:IECI—;'O-I Z-”QFA—! pt(.flf]) _ {CE ‘ (2 z(zn—l_l)) # } Lj o T
{zi | D( 0; ) # 0}z T
S o) = L =
vii=&ry | {a} Cpt(e) =2 | A3 IHsE HOZ J|hg
. B YT R0 SHE| s D] ZTHES | (HEQIE{#A)’
— > L al S| A
T; = T, pt(ggj) g pt(ggz) A} ¢ ?::IO = |092 (_2.__||:H _I_Z_-Il = %\I—I—) ) )
» @O = 70| <50 21 A% 2R7tse 2= (A
Tk € pt(z)) o=Z72H LOC HEH 0|
X; 1= *XT; 217|(load)
pt(xk) C pt(mi) bc-1.06 7,079 1,609 10.7
T t(. make-3.79.1 16,164 4,105 12.0
*T; 1= I k&P ( 7’) M7|(store)
pt(z;) C pt(zy) gawk-3.1 19,598 6,542 12.7
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